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Winter Addition

Solve the following word problems.

A winter festival sold 1,256 tickets in the first week
and 2,752 tickets in the second week. How many
tickets were sold in total?

A ski resort has 3,450 pairs of skis and they bought
an additional 3,500 pairs for the winter season.
How many pairs of skis does the ski resort have
now?

In December, a hot chocolate stand sold 3,238
cups of hot chocolate. In January, they sold 5,437
cups. How many cups of hot chocolate did they sell
in total?

A company sold 2,251 snow blowers in November.
They sold 4,749 snow blowers in December. How
many snow blowers did they sell in total?

A winter clothing store has 4,345 jackets. They
receive a new shipment of 5,450 jackets. How
many jackets does the store have now?

A store sold 1,825 wreaths in November and 5,105
wreaths in December. How many scarves did the
store sell in total?

A charity collects 3,234 winter coats in November
and an additional 5,213 in December. How many
winter coats does the charity collect in total?
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